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Multiple Choice Questions : (One marlceach) {10]

(1) Simple random sampling is used 1o draw a sample when the populationis___ .
(a)Heterogeneous (b) Homogeneous () Both (a} & (b) (dy None of these.

(2) Themainaim of sample survey 1s to get ~eliable information aboutthe intess time.
{a} sample (b} poputation (¢} both (a) & (b} {d) None of these.
(3) In____.type of sampling, the sample survey is the only way cul,
(a) constructve {1} destructive (¢} both (a) & (b) (d) None of these.
(4) Aquantitative characteristic under study is called _
{a) variable (b} attribute (¢} constant (d) None of these
(5} Classification is the type of classification where the data are classified on the basts

of differences in time.

(a) Geographical (b} Chronotogical (¢) Qualitative fd} none of these
6y method is considered o he hest for collecting Primary data when respondents are
lirerate and spread over a vast ares.
(a) Mailed (b} direct () indirect oral (d) None of these.
gquestionnaire persanal inquiry investigation
{7} is the process of arranging data into different groups or classes zecording to the
imitarities or Common characteristics.
{ay classification (b} Tabulation (e} both {a) & (b {d} None of these.
(8) _Note must be glven at the bortom of the table, i secondary datais used.
{a) Source k) Foat (o) Head () Mone of these

{9} Warl-Pearson’s coefficient afskewnessisgivenby_
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(10) EZEHiﬁéﬁﬁ?ﬁsﬂﬁjﬂﬁ—dﬁTh?x_xp—;er_a?d Toveer quartiles are equidistant om
(a) Median (b} Mode () Mean {d} None of these
SHORTS QUESTIONS. [ TWO marks each] 120}

{1} Give the two definttions of bratistics,

{2)  Listoutthe various methods of drawing a random sample. State the limitations of stratified
random sampling.
(3) Writeanoteon Lottery method for sampling.

(4) State the different methods of collecting primary data.

(5) Writein brief about Mailed Questionnaire.

(6) Define ordinal data and nominal data. Give two examples of each.

(7) Statethe objectives of tabulations.

(8) Namethe different types of diagrams commonly used. Explain any one of them,
{9) Stare main parts of the table.

(10) What 15 central tendency? State the different measures of central tendency with their




(11)
(12)

(b)
3 (a)

(b)
4 {a)

(b)

(b)

(b)

(b)

farmula. ]
What do you mean by Dispersion? List out the various measures-cf Dispersion.
Explain the concept of positive and negative skewness by sketching diagram.
Explain Stratified Random Sampling giving example and state its limitations,
Explain a method of drawing a simple random sample from a homogeneous population.
OR
What is sample and sample survey? State the advantages of sample survey.
Explain systematic sampling method of drawing a sample.
State the different method of collecting primary data. Describe any one of them.
Describe mail-questionnaire method. Give one illustration.
OR

What do you mean by questionnaire? State essential points to be remembered in drafting a
questionnaire. ‘
State the main difference hetween Primary data and secondary data.

Draw an appropriate bar diagram for the given data.

News channel ¢+ Market share (%)
India TV 5
NDTV india | 21
Channel 7 7

DD Mews 5

Sahara samay 10
Zee News 7 16
i Star News 15
 Azjak 18

In a sample survey about the coffee habit in two towns, the following information was
received: Town A: Females were 40%; Total coffee drinkers were 45% and males nan-coftee
drinkers were 20%.Town B: Males were 55%: Males non-coffee drinkers were 30% and
Fomales coffee drinkers were 15%. Present the above data in a tabular form.

OR

Blood cholesterol tevels were recorded for 50 persons sampled in a medical study group
and the following data were obrained. B
T212 249 1227 [ 249 | 258 | 265 | 256 | 286 | 233 | 258 |
195 | 233 | 195 | 282 | 286 | 195 | 259 | 210 | 161 | 286
201 257 | 195 226 | 255 | 234 1195 | 195 {210 | 255
174 1281 | 154 | 196 | 163 | 297 | 230 | 258 | 179 | 163
227 1223 1244 | 176 | 218 | 284 | 245 | 249 | 205 | 218 |
Construct frequency distribution table. One of the class is 200-210.

The following data relates to the monthly expenditure (in Rs) of two families. Represent it
by suitable diagram.

- items of Expenditure ] Expenditures-[Rs)'w
| FamilyA | FamilyB
Food 600 - 1108
Clothing 700 320
Rent 500 380
Fuel & Lighting 100 150
| Misc. 900 140
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Calculate {1} Mean {if] Median (i) Mode (iv) Standard deviation (v) Coefficient ol variation [10]

{vi) coefficient ol skewness from the data given below:

The heart rates {beats/ minute) of the 18 patients upon admission to the hospitatare listed

below:

140 136 | 120 ]

| 167 150 | 125 150 150
150 167 145 145 | 136

|
{
| 120 125 | 152 |

An agency wants to know the average weight of a new product-on the market. A random
sample of size of 50 is drawn from the maricet and the weight in gram recorded is given
below. Calculate (i) Mean (if) Median (iii) Mode (iv) Standard deviation (v} Coeflicient of

variation {vi} coefficient of skewness from the data given below:

Class limits | 5-8 | @-11 [ 11-14 1417

‘
?
]
|

frequency 6 12 | 13 8

H
|
i

17-20 |

]

[10]
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Q1 Multiple choice guestions:-
1 RO dxellany) obatloll Guallorwal? caell  8lat@UR ool ElRetl W2 s
0.
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Short Questions:- (Any Ten)
AssRAlell Al cagrueyzll W,
RedH otHoll elrclell (ALY us@ulloll Y@ clotrdl
A5 A 2SH olotloll Halel ol
olqeil At Hizoll A2dl gl w2 as olu vl
weMls Set AsMAt setoll @Ay ugril e,
Aoct s2ell ysuacl @I ARAM] el
UMl 2l el ool Saloll cattuall w0 €350l A eluel il
02jAeleRtolt GRll Bl
Ao A Gulotii Aetiett QR Ustrell 2sQle] otti AR, Aniiot
SlESUBLel UM,
slwegotl Yuel etoll weldl.
Bohel eyl g B? Aol Yot wd Bedlat gRett QR woret e
A B 53 USIAMS VA olsAMS Gl seUstl Wreslal.
Al (AWl g 58 B? QR ettatot RRY Guelel R sloticll
BRHUBS osH otrjetiall £ttdll WA Wil U Aol Mgzl (L
wtcllet cacllell M0 Yos M ool QRclloll A ugl@ wiesdl,

u el
otHoll Aol otisiloll ALY Y B? otifolioll udatalell sl2t6l QL cll
AHell ElRelledl clafAd siyotl ugloll Arend),
utas det AsAct s2aell QR ugl wond. Aot slFuRle] clelol 521
nec-yadell usldef aust 52 As Getsrnl ),
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Q.4 (a)
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LA GRL AHIRL HAdol 3 87 yslal@ell HUEHT Ysal HES velall (5
wLAeAUs HaLll. (%)
walls Set el oot 32l dAsll Hul dslalct wold.

AU Sal HI2 2kl ol wisld €12, e
|03 Astcl Hise @R (%)

o a .. 5

Aetldlell s 21 .

Aot 7 7

SN EEURS 8

wSRL AL 10

M o243 16 i

LR aqas B 15 )

U clS 18

A adAHL Slgloll 2a [AQatl otiotiatl Adata, ol Aoll HBA Y ue odl  (4)

2lGet A A2l 40% odl; set S5 Ulstizl 45% WA o12-5 coffeedl Ulotit Y™
20% &cll .26 ol otk 55% Y3 of nonet-515 Ulelial 30% el {124 814
letL 15% ctt. BURsdt 32lal 5lws 3wl Yidd 53,
SEEH
clolell weau againl otyett Aatmf AL 50 sl M2 oads HlARAC] (6D
R AAltlld] & wal oflAeoll 2t Al el sdt.utctdot [Adul Nwes

oloitell, Ay Aol 200-210 B,

217|249 [227 | 249 [258 | 265 [ 256 [ 286 | 233 | 258
195 1233 | 199 | 282 | 286 | 195 |299 | 210 | 161 | 286
201 1257 | 195 {226 | 255 |234 | 195 | 195 |210 | 255

174 | 281 [ 154 196 | 163 [ 297 |230 | 258 [179 | 163

227 | 223 [ 244 {176 | 218 | 284 | 245 | 249 | 205 | 218
ol A Mgl A UR Rt iRl w2l (3. 1) & cotcdll ©. Aal o (&

w5l Gll % 53

vial wiloll a2l 3]
"""""" s | geotell
.gs 600 1100
s 700 320
T 500 380
e 100 150
s, 300 110
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sl 530 () Hlot iy AR2tet (i) WS (iv) Rles§ Quctet (v) QU (2e)
oals (vi) ollA el detHiell ksuauell ois 18 £l el €2
(uasizl 7 RAlz) Gur slilecl yast «12 20dl ada .

167 | 150 125- ] 150 | 150 [ 140 | 136 120 | 1"5'6"1
150 | 167 | 145 | 145 | 136 | 120 | 25 | 152 | 142
weel
A Rogorll otall GellEoto] URRAL Aol QLA HISL D clos2, cemiiell s &o)
ofl UBKHe] VoS H ool ActtHl BUA B Ul AlUAA AlHg] oot olD Wt
8. ot @l () Hlot (i) Bt Gy s (iv) 225§ Qauctot (v) QR
afeis (vi) detiiell skewness dJ@lis. |
Class limits 5-8 g8-11 11-14 14-17 1-20 0
frequency 6 12 18 8 6
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